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ENGLISH

Use ‘should/must/ought to’ appropriately in the following sentences.
The students respect their teacher.
Every student carry his or her i-card during the examination.
keep away from bad habits like teasing girls, copying in exams etc.
Madhuri seems to be quite exhausted. She take some rest.

What you are doing these days is a wild goose chase. You rather concentrate on
your own project.

. Change these active voice sentences to passive voice:

. The artist painted a vibrant and captivating masterpiece.
. The firefighters rescued the family from the burning building.
. The author wrote a compelling novel that became a bestseller.

She is going to deliver the letters.
She will deliver the letters.

. Your father bought a new car one day. You all were very excited. He promised to take

you to visit your grandparents coming Sunday. Share your experience, in the form of a
diary entry describing your journey by a car.

. Write a letter to a government official urging them to take action on a social issue that

you are passionate about.

. Design a poster to promote awareness about global warming and climate change.
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MATHEMATICS

1. The length and breadth of a rectangular plot are 900 m and 700 m respectively. If three
round_s of fence is fixed around the field at the cost of Rs 8 per meter, the total amount
spent is:

(A)Rs 768

(B) Rs 7680

(C) Rs 76800

(D) Rs 768000

2. The area of the shaded region is:

(A) 96 sg. m

(B) 15sg. m

(C) 81sg. m

(D) 111sg. m




3. The difference between the length and breadth of a rectangle is 23 m. if perimeter is
206 m, then the area is:

(A) 1520sg. m
(B) 2520 sq. m
(C) 2420 sq. m
(D) None of these

4. The perimeter of a trapezium is 52 cm and its non-parallel sides are each equal to 10
cm and its altitude is 8 cm. its area is:

(A) 128 cm?

(B) 112 cm?

(C) 118 cm?

(D) 124 cm?

5. If the ratio of circumference of two circles is 4 : 9, the ratio of their area is:

(A) 9:4

(B) 16:81

(C) 4:9

(D) 2:3

6. A wire bent in the form of a circle of radius 42 cm is cut and again bent in form of a
square. The ratio of the region enclosed by the circle and the square in the two cases is
given by:

(A) 11:22

(B) 21:33

(C) 22:33

(D) 14:11




7. Three cubes whose edges are 3 cm, 4 cm, and 5 cm respectively are melted to form a
single cube. Find the surface area of the new cube.

(A) 210 cm?

(B) 213 cm?
(C) 224 cm?
(D) 216 cm?

8. From one corner of a square of side 8 cm, a small square of side 1 cm is cut off. What is
the perimeter of the remaining figure?

(A) 28 cm
(B) 30cm
(C)32cm
(D) 34 cm

9. Area of a trapezium is 91 sq. cm and its height is 7 cm. if one of the parallel sides is
longer than the other side by 8 cm, the length (in cm) of the smaller side is:

(A) 6
(B) 7
©)9
(D) 17

10. The moon diameter is approximately one fourth of the diameter of the earth. Volume
of moon is what fraction the volume of earth:

(A) 1/64
(B) 1/8
(C) 1/4

(D) None of these




SCIENCE

Q1. Identify the class of microorganisms to which the following organisms belong.

Q2. Complete the following table.

Human Disease Casual Organism Mode of Transmission
Measles

Typhoid

Malaria

Polio
Tuberculosis
Q3. Fill in the blanks:

i) Conversion of sugar into alcohol is called

i) Atmosphere has % of nitrogen gas

Iii) Yeast produces gas during respiration.

iv) During Pasteurization, milk is heated upto 0 c for Secs.

v) Which organism converts atmospheric nitrogen into nitrogenous compounds.




vi) Which gas is fixed by lightning?

Q4. Draw nitrogen cycle.

SOCIAL SCIENCE

I Multiple choice questions
1. Which of the following is considered a public facility?
a) Shopping malls
b) Private hospitals
c) Railways
d) Five-star hotels
2. The Human Development Index (HDI) is calculated based on which of the following factors?
a) Population growth, birth rate, and death rate
b) Income, education, and life expectancy
¢) Industrial growth, GDP, and exports
d) Natural resources, land area, and literacy rate
3. The Quit India Movement was launched in:
a) 1920

b) 1930

c) 1942

d) 1947
4. What does the term “Brain Drain” refer to in the context of human resources?
a) Increased literacy rate
b) Migration of skilled professionals to other countries
c) Population explosion in urban areas

d) Expansion of healthcare facilities




5. Which organization is primarily responsible for ensuring clean drinking water as a public
facility in India?

a) NITI Aayog
b) Ministry of Finance
c) Ministry of Jal Shakti
d) Reserve Bank of India
Il Assertion and reasoning questions answers
Directions: For the following questions, choose the correct option:
A — Both A (Assertion) and R (Reason) are true, and R is the correct explanation of A.
B — Both A and R are true, but R is not the correct explanation of A.
C—Aistrue, but R is false.
D — Aiis false, but R is true.

1. Assertion (A): Public facilities like water, sanitation, and healthcare should be
accessible to all.

Reason (R): Only the wealthy can afford these services, so the government does not need to
provide them to the poor.

2. Assertion (A): The population of a country is an important resource for its development.
Reason (R): A larger population always leads to higher economic growth.

111 Short questions answers

1. Why is investment in human resources important for the development of a nation?

2. Mention three major challenges in providing public facilities to people in India.

3. Explain the role of Mahatma Gandhi in the Non-Cooperation Movement.

4. Why is plain areas highly populated as compared to the desert and mountains?

5. What is Salt Satyagraha?
IV Long questions answers

1. Describe the importance of public facilities and explain how their unequal distribution
affects different sections of society.

2. How did the Revolt of 1857 lay the foundation for the later stages of the Indian freedom
struggle?




3. Discuss the factors affecting the distribution of population in India.
V High order thinking skill questions answers

Sustainable Development Goal 6 (SDG 6) focuses on ensuring availability and sustainable
management of water and sanitation for all.

¢ Discuss the challenges India faces in achieving this goal.

e Suggest measures the government and individuals can take to improve access to clean
water and sanitation.

INFORMATION TECHNOLOGY (IT)

Q1. What is a loop in Python? Explain the difference between a “for™ loop and a “while™ loop.
Q2. Write a Python program using a for™ loop to print the numbers from 1 to 10.

Q3. Write a Python program using a “while" loop to print all the even numbers between 1 and
20.

Q4.Write a Python program using a ‘for™ loop to print the sum of all numbers from 1 to 100.

Q5. What is a string in Python? Write an example of how you can assign a string to a variable
and print it.

Q6. Write a Python program to print the length of the string "Hello World".

Q7.What is the difference between four loops and awhile loop in python?

Q8. How can you assign a string to a variable in python?

Q9. What function would you use to find the length of a string in python?

Q10. How can you convert a string to uppercase in python?




ARTIFICIAL INTELLIGENCE

Part 1: Multiple Choice Questions (Choose the best answer)

1. Which of the following best describes Al ethics?
a) Building the fastest and most powerful Al systems.

b) Ensuring Al systems are developed and used responsibly and fairly.
c) Writing complex computer code for Al.
d) Learning how to use Al tools.

2. Ifan Al hiring tool favors male applicants over female applicants, this is an example of:
a) Transparency

b) Fairness
c) Bias
d) Accountability

3.Why is transparency important in Al?
a) It makes Al systems easier to use.

b) It allows us to understand how Al systems make decisions.
c) It makes Al systems more efficient.
d) It protects the privacy of Al developers.

4. Which of the following is NOT a key principle of Al ethics?
a) Fairness

b) Profitability
c) Transparency

d) Accountability

5. An Al system that collects your personal information without your permission violates
your:
a) Safety

b) Privacy
c) Transparency

d) Fairness




Part 2: Short Answer Questions

Explain why bias in data can lead to ethical problems in Al. Give a specific example.
Imagine a self-driving car has to make a difficult decision in an unavoidable accident.
It can either protect its passenger or a pedestrian. What ethical dilemmas does this
scenario raise?

. Why is accountability important when it comes to Al systems? Who should be
responsible if an Al makes a mistake?
Describe a situation where an Al system could have unintended consequences.
What are some things you can do to ensure you are using Al responsibly?






